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RBEF4A 0% 1% 2% 3% 47% 5% &3
BEAK 7 12 0 6 5 9 39
2E 7L 3 6 0 1 0 0 10
’ _ BN 9 15 0 0 0 0 24
HeyEs 7L 9 10 5 1 1 0 26
EEIN- 12 11 6 2 0 0 31
ooz 7L 9 5 3 3 0 0 20
el EEIN- 10 11 3 1 1 0 26
cl3es A 8 9 2 1 0 0 20
BEAK 9 16 5 0 1 3 34
Hee 7L 6 9 6 1 3 0 25
R BEAK 10 10 2 2 0 0 24
NKANT 7 L 19 30 10 10 3 1 73
z¢E BRAH 15 15 0 1 2 0 33
< 7R 8 11 0 2 1 0 22
. BEAK 9 9 6 1 0 0 25
HELD 7L 10 18 7 3 2 1 41
BEAK 12 6 2 0 0 0 20
L 7L 4 5 4 0 0 0 13
- — BEAK 7 11 3 4 1 3 29
EA=1%= E— AR 6 3 0 0 0 0 9
BEAK 15 5 7 6 2 3 38
\}
L 7 LA 4 8 1 1 2 0 16
BEAK 9 20 1 2 0 0 32
N
Lo 7 LA 12 14 9 3 0 0 38
zz3 EEIN 9 10 2 8 0 0 29
b A 1 3 2 0 0 0 6
= BEAK 9 3 2 1 0 0 15
SVEREH 7 A 4 11 7 5 0 0 27
HEA 6 5 1 1 0 0 13
g0 7 LA 3 7 5 0 2 0 17
3 HEAM 10 6 4 2 0 3 25
HHT5 7 LA 9 9 8 2 0 0 28
o BEAK 8 5 1 1 0 0 15
DU G e 3 8 0 1 0 0 12
e e | EAR 7 11 1 19
BIRECLEE 5 5 11 3 19
BEAK 9 1 1 11
IS 7 2 5 2 9
1 BEAK 6 9 5 1 0 5 26
BHTBENSL 7 8 16 5 6 1 0 36
= BEAH 6 4 0 0 0 0 10
LB 7 8 15 3 2 2 0 30
o BEAK 6 2 2 2 0 0 12
B e 3 5 6 0 0 19
s e | TEAK 6 4 1 0 0 0 11
BLFERE Prom—— 7 1 1 1 0 0 10
AP 2N 4 0 4
EACORBE 1 0 1
oz s | FEAK 3 2 7
CCATIT1REE e 0 0 0
BEAK 6 0 6
EI5PAL—L 7L 4 0 4
N BEAK 6 0 6
HHETEN—h 7L 1 0 1
- BEAK 2 0 1 3
#9583 7L 1 0 0 1
- BEAK 2 2
HENRE 7 LR 1 1 0 2
as LN 212 220 58 41 12 26 567 (569)
= 7 LR 155 224 88 49 17 2 535
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